GB407

A 1
(1)
(2)
(3)
A 2 5 mVvV/m
A
10 pV 100 p VvV 1.2 mVv
A 3
2 2
A 4
(1)
[ ]
(2)
A 5 50
100
25 Q 50 Q 75 Q 250 Q

20 MHz

2.4 mV

174

500 Q

25 30
A/TT m
11.3 mV
1]
1]
<—1/4 %‘
J
100 Q
50 Q

(GB407-1)



10

(2)
3)

1)
2

1.2

1.8

2
0.3 j+0.4 VSWR
2.3 3.0 4.0
m
PR P
2 3
174
(MF)
]

(GB407-2)



11 GHz 60
0.6 A m A, m
G (
G=4TA,

0.7 m 1 m 1.4 m 2 m 2.8 m

12 (

DME
1,215 MHz

13 [ ]

(1) ]
2) ]

3)

14 [ ]

1)

() ]

960

i

(GB407-3)



15

16

HF
FOT
FOT
30 60
3.9 MHz 3.4 MHz
5.8 MHz 8.5 MHz
6.9 MHz 12.1 MHz
7.9 MHz 13.6 MHz
9.2 MHz 18.8 MHz
1
(1) cd
[ ]
C,
C, F
(2) (cd ef
Z, I m
zi=[ ] Q
ef
Zug=[ ] Q
(3) (1) Zig G,
Zo=[ | Q
—jZycotpl -iZ
o - Zg
—jZysingl ~l 5
—jZocotpl =i Zo
. . Zg
—jZysingl ~l 5
—jZycotpl -jZ
- V/m e V/m
120n 120

F, 30 60
F, MHz
(MUF) 85 %
[ ]
[ ] A m
o rad/s
C, cd ef Al8 m ef
[ ] C, C,
Al8 m ) ab
B rad/m Z, Q
Zis I=A/8
Z0
A
a e‘ég %‘
' A
¢ c
) 1| C
> O §§ Z 1 %2
wCy
1 : v
wCy b f d
J2 -~ | —>‘
wCyq
V2
wCy
p w/ ?
120m Q
J30mp  V/m 2/15xp V/m 2/30rp  V/m

(GB407-4)



20

SW a w rad/s C,
C, Cqa F 1
L, L, H Xn Q
wl,+X,= | ] Q ...
SW b w C, C, Ce F
sz = |:| Q
f 1  MHz Cqy= 500 pF
Co= 1000 P Xn
f Cq Co Xa= | Q
A B C
1 1
wCq wCq 160
1 wly
wCgq wCqp 160
1 1
wCq wCq 480
oCo oCe 480
CUL]_ 1
]
0 P W PW
P
Pl | w
2 Vv, V V, V
Z, Q
-1
dx(how
-1
P=} [ ] w
(3) Vmax \Y Vmin
-1
P[] w
2 2 2
P+P. VZ+V?  (V,+V) Vinax Viin
P +P Vt2+Vr2 (Vt+Vr)2 V’%ax
P+P Vt2 + Vr2 (Ve +VO(Vy V) Vi Vinin
P—P VZ-V? (Ve V)V V) Vi,
P-P VZ-V? (Vi +V)Vi V) Via Vinin
1 ]
) ]
] ]
) ] [ ]
2 5
7 10

(GB407-5)



1) P, W d m =
E= | Wm
) o A d E,
Eh=6%'° V/m
73 Q I P,
=l | w
I0 Eh
E.=L | w/m
(3) Go E=| |
Ps I:)h
Gompr= [
o Ph . r
60,/P, ) /30 P,
1.64 2 2 s E, 60I¢ ]
/P /73R,
VEn Jdis 2.15 603d“ 10 73I¢

1 2
( )
4 ]
1) ] ] ]
) ] ]
YN )
X

]

(1) ]
]
) ]
]
]

(GB407-6)



